

$$= \det(A_{ij}) - a_{ij}a_{ji} + a_{ij}a_{ji}^{(2)} + \dots + (-1)^{i+j}a_{ij}a_{ji}^{(i+j-1)} \quad \text{for } i, j, i_1, \dots, i_{i+j-1} \neq j$$

where i and j retain ascending order (i.e. by induction $\det(A_{ij}) = \det(A_{ij})$).

STEP 2: THE RESULT

(i) Suppose that $a_{ij} = 0$. In prove the implications (i) \Leftrightarrow (ii) take

$a_{ij} = 0, a_{ji} = 0$ with $a_{ij}a_{ji} = 0$ and define the function

$$a_{ij}(x) = \begin{cases} 0 & \text{if } x = i \\ \frac{a_{ij} - a_{ji}}{i - j} (i + x) & \text{if } i < x < j \\ \frac{a_{ij} - a_{ji}}{i - j} & \text{if } x = j \end{cases} \quad (1)$$

It is easily seen that a_{ij}, a_{ji} are constants so $a_{ij}(x) = 0$

$$\frac{\partial}{\partial x} (a_{ij} - a_{ji}) = \frac{\partial}{\partial x} \frac{a_{ij} - a_{ji}}{i - j} \quad (2)$$

the identity $a_{ij}a_{ji} = 0$ is clear

$$a_{ij}(x) + a_{ji} = \frac{a_{ij} - a_{ji}}{i - j} \int_0^1 (i + x)^{i-1} a_{ji}(x) dx \quad \text{for } i < x < j, \text{ and}$$

the two identity states that $a_{ij}, a_{ji} = 0$ holds for

$$a_{ij}(x) = a_{ji} = \frac{a_{ij} - a_{ji}}{i - j} \int_0^1 (i + x)^{i-1} a_{ji}(x) dx \quad \text{for } x = i, j \quad (3)$$

Therefore, we have

$$\frac{a_{ij} - a_{ji}}{i - j} \int_0^1 (i + x)^{i-1} (i + x)^{i-1} dx = \int_0^1 (i + x)^{i-1} a_{ji}(x) dx \quad (4)$$

which follows from (1) and (3) by a simple calculation.

Suppose now that (i) holds and let both corresponding functions a_{ij}, a_{ji} take the Laplace condition (1). By the definition of the sum in $\det(A_{ij})$ and $\det(A_{ji})$, by Lemma 1 and 2 and by (1) respectively (1) may be written in the following form

$$\begin{aligned} & \sum_{k=1}^{i+j} \left[a_{ij}(k) a_{ji}(k) + (-1)^k a_{ij}(k) a_{ji}(k) \right] = \\ & = \sum_{k=1}^{i+j} \left[\frac{a_{ij} - a_{ji}}{i - j} (i + k) a_{ji}(k) + (-1)^k a_{ij}(k) a_{ji}(k) \right] = \end{aligned}$$

$$= a_2 \left(\sum_{j_1, j_2, \dots, j_{n-1}} r_{j_1}^{j_1} r_{j_2}^{j_2} \dots r_{j_{n-1}}^{j_{n-1}} \right) + \left(\sum_{j_1, j_2, \dots, j_{n-1}} r_{j_1}^{j_1} r_{j_2}^{j_2} \dots r_{j_{n-1}}^{j_{n-1}} \right) a_2$$

$$= \sum_{j_1, j_2, \dots, j_{n-1}} (a_2 r_{j_1}^{j_1} r_{j_2}^{j_2} \dots r_{j_{n-1}}^{j_{n-1}}) +$$

multiplying the component $\sum_{j_1, j_2, \dots, j_{n-1}} r_{j_1}^{j_1} r_{j_2}^{j_2} \dots r_{j_{n-1}}^{j_{n-1}}$ and the other members on the left-hand side of above inequality and then adding them we get by (10) and (11)

$$\left(\sum_{j_1, j_2, \dots, j_{n-1}} r_{j_1}^{j_1} r_{j_2}^{j_2} \dots r_{j_{n-1}}^{j_{n-1}} \right) a_2 + a_2 \left(\sum_{j_1, j_2, \dots, j_{n-1}} r_{j_1}^{j_1} r_{j_2}^{j_2} \dots r_{j_{n-1}}^{j_{n-1}} \right) +$$

$$= a_2 \left(\sum_{j_1, j_2, \dots, j_{n-1}} r_{j_1}^{j_1} r_{j_2}^{j_2} \dots r_{j_{n-1}}^{j_{n-1}} \right) \left(\sum_{j_1, j_2, \dots, j_{n-1}} r_{j_1}^{j_1} r_{j_2}^{j_2} \dots r_{j_{n-1}}^{j_{n-1}} \right) +$$

$$= a_2 \left(\sum_{j_1, j_2, \dots, j_{n-1}} r_{j_1}^{j_1} r_{j_2}^{j_2} \dots r_{j_{n-1}}^{j_{n-1}} \right)^2$$

where $a_2, r_{j_1}, r_{j_2}, \dots, r_{j_{n-1}}$ are arbitrary real numbers and

$$r_{j_1} = \frac{1}{\sum_{j_1=1}^n r_{j_1}^{j_1}}, \quad r_{j_2} = \frac{1}{\sum_{j_2=1}^n r_{j_2}^{j_2}}, \dots, r_{j_{n-1}} = \frac{1}{\sum_{j_{n-1}=1}^n r_{j_{n-1}}^{j_{n-1}}}$$

multiplying both sides of this inequality by the left and adding

$$r_{j_1} + r_{j_2} + \dots + r_{j_{n-1}} \tag{12}$$

we get the following inequality

$$\left(\sum_{j_1, j_2, \dots, j_{n-1}} r_{j_1}^{j_1} r_{j_2}^{j_2} \dots r_{j_{n-1}}^{j_{n-1}} \right) a_2 + a_2 \left(\sum_{j_1, j_2, \dots, j_{n-1}} r_{j_1}^{j_1} r_{j_2}^{j_2} \dots r_{j_{n-1}}^{j_{n-1}} \right) +$$

$$= a_2 \left(\sum_{j_1, j_2, \dots, j_{n-1}} r_{j_1}^{j_1} r_{j_2}^{j_2} \dots r_{j_{n-1}}^{j_{n-1}} \right) \left(\sum_{j_1, j_2, \dots, j_{n-1}} r_{j_1}^{j_1} r_{j_2}^{j_2} \dots r_{j_{n-1}}^{j_{n-1}} \right) +$$

It follows from (12) and (13) that

$$r_{j_1}^{j_1} r_{j_2}^{j_2} \dots r_{j_{n-1}}^{j_{n-1}} = a_2 \left(\sum_{j_1, j_2, \dots, j_{n-1}} r_{j_1}^{j_1} r_{j_2}^{j_2} \dots r_{j_{n-1}}^{j_{n-1}} \right) +$$

consequently we have

$$\sum_{j_1, j_2, \dots, j_{n-1}} r_{j_1}^{j_1} r_{j_2}^{j_2} \dots r_{j_{n-1}}^{j_{n-1}} = \begin{cases} a_2, & \text{if } j_1, j_2, \dots, j_{n-1} = 1 \\ a_2 + 1, & \text{if } j_1, j_2, \dots, j_{n-1} \neq 1 \end{cases} \tag{14}$$

and by (14)

$$\sum_{j_1, j_2, \dots, j_{n-1}} r_{j_1}^{j_1} r_{j_2}^{j_2} \dots r_{j_{n-1}}^{j_{n-1}} = a_2 + 1 \tag{15}$$

by (3.4) and (3.5), writing them in the form $\mathcal{H}_1 \mathcal{H}_2^{-1} \mathcal{H}_3$ we get

$$\mathcal{H}_1^{-1} \mathcal{H}_2 \mathcal{H}_3^{-1} = \mathcal{H}_1^{-1} \mathcal{H}_2 \mathcal{H}_3^{-1}$$

for the bilinear form $\mathcal{H}_1^{-1} \mathcal{H}_2 \mathcal{H}_3^{-1}$. This means that $\mathcal{H}_1^{-1} \mathcal{H}_2 \mathcal{H}_3^{-1}$ is constant with respect to the second variable and, consequently, there exists a bilinear form $\mathcal{H}_1^{-1} \mathcal{H}_2 \mathcal{H}_3^{-1}$ such that $\mathcal{H}_1^{-1} \mathcal{H}_2 \mathcal{H}_3^{-1} = \mathcal{H}_1^{-1} \mathcal{H}_2 \mathcal{H}_3^{-1}$. Hence it is of rank $\mathcal{H}_1^{-1} \mathcal{H}_2 \mathcal{H}_3^{-1}$ and it follows that $\mathcal{H}_1^{-1} \mathcal{H}_2 \mathcal{H}_3^{-1}$ must represent the point of the spectrum $\mathcal{H}_1^{-1} \mathcal{H}_2 \mathcal{H}_3^{-1}$.

To prove the converse representation take $\mathcal{H}_1, \mathcal{H}_2$ of rank $\mathcal{H}_1^{-1} \mathcal{H}_2 \mathcal{H}_3^{-1}$ and put $\mathcal{H}_3 = \mathcal{H}_1 \mathcal{H}_2^{-1} \mathcal{H}_1^{-1}$ so that $\mathcal{H}_1^{-1} \mathcal{H}_2 \mathcal{H}_3^{-1} = \mathcal{H}_1^{-1} \mathcal{H}_2 \mathcal{H}_1^{-1}$. Hence it is of rank $\mathcal{H}_1^{-1} \mathcal{H}_2 \mathcal{H}_1^{-1}$ and, since \mathcal{H}_1 is an isometry, we have that $\mathcal{H}_1^{-1} \mathcal{H}_2 \mathcal{H}_1^{-1}$ is a linear and continuous mapping of linear space $\mathcal{H}_1^{-1} \mathcal{H}_2 \mathcal{H}_1^{-1}$ into $\mathcal{H}_1^{-1} \mathcal{H}_2 \mathcal{H}_1^{-1}$. Therefore there exists an $\mathcal{H}_1^{-1} \mathcal{H}_2 \mathcal{H}_1^{-1}$ such that $\mathcal{H}_1^{-1} \mathcal{H}_2 \mathcal{H}_1^{-1} = \mathcal{H}_1^{-1} \mathcal{H}_2 \mathcal{H}_1^{-1}$ and, thus, representing the point of $\mathcal{H}_1^{-1} \mathcal{H}_2 \mathcal{H}_1^{-1}$.

Let us now suppose that there is a point $(\mathcal{H}_1, \mathcal{H}_2) \in \mathcal{H}_1^{-1} \mathcal{H}_2 \mathcal{H}_3^{-1}$ and we shall show that $\mathcal{H}_1^{-1} \mathcal{H}_2 \mathcal{H}_3^{-1} \in \mathcal{H}_1^{-1} \mathcal{H}_2 \mathcal{H}_3^{-1}$. This is because $\mathcal{H}_1^{-1} \mathcal{H}_2 \mathcal{H}_3^{-1}$ is a linear and continuous mapping of linear space $\mathcal{H}_1^{-1} \mathcal{H}_2 \mathcal{H}_3^{-1}$ into $\mathcal{H}_1^{-1} \mathcal{H}_2 \mathcal{H}_3^{-1}$. Therefore there exists an $\mathcal{H}_1^{-1} \mathcal{H}_2 \mathcal{H}_3^{-1}$ such that $\mathcal{H}_1^{-1} \mathcal{H}_2 \mathcal{H}_3^{-1} = \mathcal{H}_1^{-1} \mathcal{H}_2 \mathcal{H}_3^{-1}$ and, thus, representing the point of $\mathcal{H}_1^{-1} \mathcal{H}_2 \mathcal{H}_3^{-1}$.

$$\mathcal{H}_1^{-1} \mathcal{H}_2 \mathcal{H}_3^{-1} = \frac{\mathcal{H}_1^{-1} \mathcal{H}_2 \mathcal{H}_3^{-1} \mathcal{H}_1 \mathcal{H}_2 \mathcal{H}_3^{-1} \dots \mathcal{H}_1 \mathcal{H}_2 \mathcal{H}_3^{-1}}{\mathcal{H}_1 \mathcal{H}_2 \mathcal{H}_3^{-1}}$$

is the representation of $\mathcal{H}_1^{-1} \mathcal{H}_2 \mathcal{H}_3^{-1}$ as a continuous mapping of the point $\mathcal{H}_1^{-1} \mathcal{H}_2 \mathcal{H}_3^{-1}$ into $\mathcal{H}_1^{-1} \mathcal{H}_2 \mathcal{H}_3^{-1}$. Hence there exists an $\mathcal{H}_1^{-1} \mathcal{H}_2 \mathcal{H}_3^{-1}$ such that $\mathcal{H}_1^{-1} \mathcal{H}_2 \mathcal{H}_3^{-1} = \mathcal{H}_1^{-1} \mathcal{H}_2 \mathcal{H}_3^{-1}$ and, thus, representing the point.

Lemma 1

It follows directly as here for the linear space of separable functions $\mathcal{H}_1, \mathcal{H}_2 \in \mathcal{H}_1^{-1} \mathcal{H}_2 \mathcal{H}_3^{-1}$. We show as similar result using the two linear spaces $\mathcal{H}_1^{-1} \mathcal{H}_2 \mathcal{H}_3^{-1}$ and $\mathcal{H}_1^{-1} \mathcal{H}_2 \mathcal{H}_3^{-1}$. In fact, the functions $\mathcal{H}_1, \mathcal{H}_2$ have p generalized eigenvalues $\mathcal{H}_1^{-1} \mathcal{H}_2 \mathcal{H}_3^{-1} = \mathcal{H}_1^{-1} \mathcal{H}_2 \mathcal{H}_3^{-1}$ and $\mathcal{H}_1^{-1} \mathcal{H}_2 \mathcal{H}_3^{-1} = \mathcal{H}_1^{-1} \mathcal{H}_2 \mathcal{H}_3^{-1}$ such that, as the case we have

$$\|\mathcal{H}_1 - \mathcal{H}_2\| \leq \|\mathcal{H}_1 - \mathcal{H}_2\|.$$

Lemma 2

The theorem implies by the Banach fixed point theorem must be applicable in the theory of differential equations of the nonlinear functional equation $\mathcal{H}_1 \mathcal{H}_2 = \mathcal{H}_1 \mathcal{H}_2$.

CONTENTS

- [1] M. G. Krein, On the spectral expansion of a singular operator, *Dokl. Akad. Nauk SSSR*, 1951.
- [2] M. G. Krein, On the spectral expansion of a singular operator and the structure of operators in Hilbert spaces, *Dokl. Akad. Nauk SSSR*, 1952.
- [3] M. G. Krein, On the spectral expansion of Hermitian operators, *Mathematical Methods, Vol. III, Proc. I.V.S.S.S.*

ON THE SPECTRAL EXPANSION OF A SINGULAR OPERATOR
 AND THE STRUCTURE OF OPERATORS IN HILBERT SPACES

I. INTRODUCTION

Let \mathcal{H} be a Hilbert space and let A be a self-adjoint operator in \mathcal{H} . Let E_λ be the spectral function of A . Let μ be a finite Borel measure on \mathcal{H} such that $\int_{\mathcal{H}} \lambda^2 d\mu < \infty$. Let \mathcal{H}_μ be the Hilbert space obtained by completing the space of functions $f(\lambda) = \int_{\mathcal{H}} f(\lambda) d\mu$ with respect to the inner product $(f, g) = \int_{\mathcal{H}} f(\lambda) \overline{g(\lambda)} d\mu$. Let \mathcal{H}_μ be the Hilbert space obtained by completing the space of functions $f(\lambda) = \int_{\mathcal{H}} f(\lambda) d\mu$ with respect to the inner product $(f, g) = \int_{\mathcal{H}} f(\lambda) \overline{g(\lambda)} d\mu$. Let \mathcal{H}_μ be the Hilbert space obtained by completing the space of functions $f(\lambda) = \int_{\mathcal{H}} f(\lambda) d\mu$ with respect to the inner product $(f, g) = \int_{\mathcal{H}} f(\lambda) \overline{g(\lambda)} d\mu$.

DEPARTMENT OF MATHEMATICS, UNIVERSITY OF CALIFORNIA,
 BERKELEY, CALIFORNIA

ON THE SPECTRAL EXPANSION OF A SINGULAR OPERATOR
 AND THE STRUCTURE OF OPERATORS IN HILBERT SPACES

I. INTRODUCTION

Let \mathcal{H} be a Hilbert space and let A be a self-adjoint operator in \mathcal{H} . Let E_λ be the spectral function of A . Let μ be a finite Borel measure on \mathcal{H} such that $\int_{\mathcal{H}} \lambda^2 d\mu < \infty$. Let \mathcal{H}_μ be the Hilbert space obtained by completing the space of functions $f(\lambda) = \int_{\mathcal{H}} f(\lambda) d\mu$ with respect to the inner product $(f, g) = \int_{\mathcal{H}} f(\lambda) \overline{g(\lambda)} d\mu$. Let \mathcal{H}_μ be the Hilbert space obtained by completing the space of functions $f(\lambda) = \int_{\mathcal{H}} f(\lambda) d\mu$ with respect to the inner product $(f, g) = \int_{\mathcal{H}} f(\lambda) \overline{g(\lambda)} d\mu$. Let \mathcal{H}_μ be the Hilbert space obtained by completing the space of functions $f(\lambda) = \int_{\mathcal{H}} f(\lambda) d\mu$ with respect to the inner product $(f, g) = \int_{\mathcal{H}} f(\lambda) \overline{g(\lambda)} d\mu$.

DEPARTMENT OF MATHEMATICS, UNIVERSITY OF CALIFORNIA,
 BERKELEY, CALIFORNIA